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Instructions for Candidates

8. Write short notes on any two of the following :
g : B 1. Write your Roll No. on the top immediately on receipt

(i) Policy Rate Corridor of this question paper.

2. All questions carry equal marks.

(i) Monetary transmission mechanism _
3.  Answer any FIVE (5) questions.

(iii) Certificate of Deposits (CDs) (15) | 4. Answers may be written either in English or Hindi;
: \ but the same medium should be used threughout the
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(a) Examine the role of public, commercial banks, and
the central bank in the determination of money

supply in an economy. (9

(b) Differentiate between monetary and liquidity
aggregates of the third working group. What is
the basis of this differentiation? (6)

(3) v sefemaenr o wo smafd & Fufor ¥ adwfE,
T ¥ sk R Fw @ sl @ R

(@) TR T wE @ wAfaw R wed D 9= s
F| TH VSN I HUR T 87

(a) Why is asset securitization an example of market
intermediation? In what ways can securitization

reduce the cost of funds for the issuer? (8)

(b) “Better credit risks do not subsidize poor credit
risks when symmetric information exists” whereas
“Honest borrowers subsidize dishonest borrowers

when information is asymmetric”. Explain.  (7)
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(a) What were the policy responses to the two banking

crisis in the Indian economy for the period :
1997-2002

After 2008 (10)

(b) How can the existence of asymmetric information
provide a rationale for government regulation of

financial markets? (5)

(31) 1997-2002
2008 & @T Jaf & forg sIdm srfergen F ) A
Hdhe & forg ifon wifrad o)

(@) T SHER w1 siftd Ay R @ wed
fafe & fov v a5 9 wem @ gwar 27

(a) Describe how BASEL 111 is an enhancement over
BASEL II. (10)

(b) Examine the lags observed in the operation of

monetary policy. (5)

(37) @viT @Y fF ®4 BASEL IIL, BASEL II & g
e fawm 21
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(b)

4

conditions yield curve would be upward sloping,
downward sloping or flat according to Preferred
Habitat Hypothesis. (6)

A coupon bond maturing in one year has a face
value of Rs 1000 and a coupon rate of 8%. If the
market interest rate is 6% at the time of purchase,
calculate (a) price (b) current yield c) yield to
maturity of this bond. What effect would a rise in
the market rate of interest to 10% have on its

price and yield? (9)

(3r) e o fF @8 womn gRaEed 3R @l awiR
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3. (a) Compare and contrast the sequence of events in
financial crises in United States and East Asian
Countries. (8)

(b) In what ways Futures differ from a Forwards

contract and Options contract? (7)
(37) wg asa PR v 7l ol 3w ¥ R g@al
HACAA B FTHT A FR R o w

(@) T fhe wE ¥ s ey ok feer amEw R
FA B?

4. (a) Explain how the expectation hypothesis and
segmented market hypothesis are extreme versions

of the preferred habitat hypothesis. Under what
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